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QUESTION 1

An organization has deployed a cloud infrastructure. They frequently experience power outages that result in their
service offerings being unavailable from time to time. 

What term refers to this condition? 

A. Transient unavailability 

B. In-transient unavailability 

C. Permanent unavailability 

D. Intermittent unavailability 

Correct Answer: A 

 

QUESTION 2

Which backup method type is represented in the exhibit? 

A. Direct backup 

B. Guest VM level backup 

C. Image-level backup 

D. Guest OS level backup 

Correct Answer: C 

 

QUESTION 3

Which task describes adherence to compliance? 

A. Ensure security policies are being enforced 

B. Define access rights to users 
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C. Assess the cloud provider\\'s capability to provide logs 

D. Assess assets with realistic valuations 

Correct Answer: A 

 

QUESTION 4

What is a function of the discovery operation during the service operation phase of the cloud service lifecycle? 

A. Collects information about people involved in the service operations 

B. Collects information about services available in the catalog 

C. Provides visibility into each Cloud service asset employed 

D. Restores service levels while continuously optimizing operations 

Correct Answer: A 

 

QUESTION 5

What can an IT department do to better meet IT challenges and support digital businesses? 

A. Become more technology centric 

B. Focus on delivery and management of digital assets 

C. Become more service centric within cost constraints 

D. Focus on providing services without being distracted by costs 

Correct Answer: A 

 

QUESTION 6

What is specified by a service attribute? 

A. Relationships between services 

B. Configurations of service components 

C. Management operations 

D. Structure of a service 

Correct Answer: D 

 

QUESTION 7
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Which activity is a part of people transformation? 

A. Automation of IT tasks that reduces manpower needs 

B. Adoption of a modern IT infrastructure 

C. Communication between IT staff and business leaders 

D. Adoption of a standard framework such as ITL 

Correct Answer: A 

 

QUESTION 8

Which product is a single-instance, multitenant integration platform as a service that provides a unified online
development and management environment? 

A. MyService 360 

B. ViPR SRM 

C. Data Protection Advisor 

D. Dell Boomi 

Correct Answer: D 

 

QUESTION 9

Which method compares observed events with normal activities to identify abnormal patterns in a system? 

A. Encryption-based authentication 

B. Anomaly-based intrusion detection 

C. Multi-factor authentication 

D. Signature-based intrusion detection 

Correct Answer: B 

 

QUESTION 10

An organization requires double the processing capacity for a specific duration to handle increased workload. For the
remaining period, the organization might want to release the idle resources to save costs. The workload variations may
be 

seasonal or transient. 

Which cloud characteristics enables the consumer to handle such variations in workloads and IT resource
requirements? 
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A. Rapid elasticity 

B. Resource pooling 

C. Measured service 

D. On-demand self-service 

Correct Answer: A 

 

QUESTION 11

What is the purpose of a bitmap in snapshot creation? 

A. Keeps track of blocks that have changed in the filesystem 

B. Indicates the exact address from which data has to be read 

C. Indicates the exact address to where data has to be written 

D. Keeps track of the number of blocks that are highly utilized 

Correct Answer: D 

 

QUESTION 12

Which Dell EMC product provides a converged infrastructure solution? 

A. XC Series Appliance 

B. VxBlock 

C. VxRail Appliance 

D. XtremIO 

Correct Answer: C 

 

QUESTION 13

What is a common characteristic of organizations that have adopted modern applications to unlock digital business
advantage? 

A. They focus on compelling user experiences and responsive designs 

B. They leverage only their internal IT infrastructure to develop and deploy applications 

C. They leverage only the public cloud to develop and deploy applications 

D. They focus on meeting internal users\\' demands rather than customers\\' expectations 
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Correct Answer: A 

 

QUESTION 14

Which process involves determining the optimal resources required to meet seasonal spikes in resource demand? 

A. Configuration management 

B. Change management 

C. Capacity management 

D. Incident management 

Correct Answer: C 

 

QUESTION 15

What capability does an orchestration workflow provide? 

A. Helps administer the cloud infrastructure, such as adding resources to a resource pool, billing, and reporting 

B. Helps to consolidate all the IT resources in the cloud environment 

C. Enables the administrator to control the underlying physical infrastructure using a single unified management
console 

D. Creates an automated set of tasks to update the service catalog by cloud consumers without requiring manual
intervention 

Correct Answer: C 
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